FRERFEAETRER(SF7(2025)F18)
HREEZEHUREMEL2—

RIEBERMTIEEE
\ —
W2 B %
BIER KRB S EA[EER | 7IS [NF=[aF [ NRE | ad [FHFS
U | <& LI¥E| ¥ |SEHE| YA | FED|UE e
IR agJI;J (€(2)] &
HEFHR 4 0 4 0 8 29 1 1 0 3 [BIARIZHH 63AAT AR 1,5/58%
AE(E 63| 00 6.3 00] 12.7] 46.0 1.6 1.6 0.0 12,7 |GAEHE 25%)
[ESRS SE4E{E 9.0 22| 51 6.7 | 94| 47.2| 24.8 0.0 00| 7.1
FEEL 700 00]1235] 00/[135.1]| 97.5[ 6.5 - - [178.9 |XAFE=FAFOHAZ L DATKRDOFHEE RS
HERE (wgi]| o [THH] & [FEE[FFE] > [wes) | 2 [0S |XFELE= (KFE/FEE x100
EBRK 1 0 4 0 56 | 235 1 2 0 15
P AE(E 0.1 00| 03] oof 36 149 0.1 0.1 00] 05
= FEE 0.1 0.0 0.3 0.0 1.2 14.9 2.7 0.0 0.0 0.3 [EABHMBMICAY Y FENBIFETIEHELA, FEANTRENE
FEEL 100.0 f - J100.0|] - {300.0100.0[] 37 - - 1166.7 |[oh2BEEHMR L LTREFBHICAD Y +
RERE (T o [FEH] o & [T & - P Y 2
T 4 [THEE)| D [ OOB|THE) D | @en) | D [ POB

VX, EEESHIEY - EERTRUNOBFTEERERE RFELFFEOLER) A-LL TS L DOOBMEFERT

HET: %
RE[#R [ EA[TT (SE[RE[EF[RE[EM[ 7T [ F[NE] R/ R
e VR (AU |AC (EE (15| & WO SAL|CS | Ty |aH|EY
[ wm| & | m | & AR AR AR A ED .
(R | W% | BB | v o
) U
W=
REFIHH 3 0 0 5 2 5 0 0 0 1 4 1 0 0 |#FAE IFIHE: 20H P
A EE 15.0 | 0.0 00250100250 | 0.0 0.0] 0.0 [50{200] 50| 00/ 0.0 |¥sAZ#%: 1,000
F5% |  FFEE (138 | 1.5 |13.5 [ 5.5 | 7.4 (12.8 ] 0.0 [ 0.0 [ 0.0 [ 0.0 |12.4 | 0.9 | 0.0 | 0.5 | (FAZHk:504k. 1007 - R, FA V- § A V1503, T DHta1003E)
FHE  108.7] 0.0] 0.0 |454.5 f1351 1053 - [ - |- |- [161.35556] — 0.0 [Z&NTH )
REEE || D | L | B |Taw| B | D | D | D |oes|oes| & | L | 4 |[FAFE=FEOMACLORAAHREOTFEERYT
RAEBRY 4l ol of 3[ 6] 10 of of of 1] s0] 2] of o XFFE=CKFEFEE) 100
NANTHT LN R KU E(£2016.6~ . LURTIZ S RABE D=8, F4&
— AE(E 04100/100/03/06]10/00f00]00]01]15]02]00] 00/ EM 20"
R TFEE 0.6100/123103]12]05]00]00]00/00/03|00]|0.0]|0.0¥a43TS535FE2014FLIMRTIER, URIIHREDT-. FEHEESE
FHEL |80.0 | - 0.0 |100.0 |50.0 |200.0 | - _ ~ - ls0o] - _ | XABEMRICTHYU RSN B IZE TRV, [FBRNTRENRONS
= - - - : : BEFBRELTREEFBRITAIUL
RERE |pew| 4 | L |wEsjven| £ | b [ L | » | - | B | - | | b
W FE| D | D |(ves|HEdl B8 | D | D | D |[ves|ves|ees) D | @)
) BIEFO () (E, EEAEDEY - EEFREFRUNOBFTEEREEE REELTFEOLB) A-LHE>TLELODMFEETT
EpoY
N B %
REAU[ RE [ SE[WBE | &is | o 47 | WIEX [BiER| BEAR |77 Jh[7¥ 9] "0 Iv 1 [afy 53| A3 = [ meva
s (AT | m | B&EB)| & kg N | vE | vE | BOR | g | g | 9R
() s () | B -3 () R
St (FIH 0 1 2 1 0 0 0 2 0 1 0 0 1 0 0 |RIAEIFHE: 100FF
A LB 0.0[10.020.0]100]| 00| 00| 00]20.0]00]100] 0.0 0.0 10.0]0.0 0.0 [#3FAZZE%: 1, 0003
[E3- kS EAEfE 23| 86294| 55| 00| 00| 63[182] 00| 1.1]22 00| 90]00 0.0 |#EAZE#HE: 2504
EELH 0.0 |116.3 | 68.0 [181.8 = - 0.0 0109.9 [ - ]909.1| 0.0 - 1.1 ] - - (FAEZE#H  1003%)
AR & |FEFL|FEEH) $ Ed Ed [ - - I $ |FEHEE| D P | GREHE 25%)
| s - mu o| 84| 37 4 0 0 0 3 0 2 0 0 4 0 0 FEEH- GRS TEw 0 CxEm
&
B A LB 00| 84| 37)[04] 00| 00| 00] 03] 00]02]0.0 00| 41]00 0.0 |ZOlbRs s OMERRD Tl E 7T ] s
FEE - % FEE 0.1 1.7 1.7] 0.6 0.0 0.0 0.4] 0.4]00] 00] 0.0 0.0 0.4]100 0.0 |Ehi, B YA %, RILX TRHIZHIEEM
* TeELE 0.0 [494.1 [217.6 [66.7 | - - oolmol - [ - |- - lioes o] - - M EhANOTTRLesE. A
;ggipf P | & | & |w&n] » 2 P - - -1 » P 3 [ o] & pasmawcnss ensritusin
b [pog|eeslees] b | b | b |oew| @) [ees]| b | b e8| b | b |arisiio o oo ERRELTREES
E ﬂmta)( VX, BEEREDEY - EERERUNOBIE - IRERE AFBE FEBOER A-EHB> TV HDDWFERT
(>}
BT %
ElE3ET] 27T TUm HEMER | *5—_8] | F9SO%
5 &%
FEIFIHH 0 2 0 0 0 2 |#MAEIFEE: 200FF
HLE(E 0.0 10.0 0.0 0.0 0.0 10.0 |#3EM#&#ES: 1, 0008
[ESCES F4E{E 5.9 4.5 0.0 0.5 18.5 2.0 | (FAZHEE 508F)
FELE 0.0 222.2 - 0.0 0.0 500.0 |X¢F4FLL= (FifE F4{E) x 100
FLERRE @ E3 2 2 2 E3 KHRED FEEILBEI0EDE
FEKREK 0 6 0 0 0 23 |XAREEIF, FEDHEAT EDHERROFHBEERYT
KIABMMICHD Y FENBIFETIEELA, FBNTR
R 0.0 0.6 0.0 0.0 0.0 23\ B onSHARKEE L TREBSRIZN D b
R FEE 0.6 0.3 0.0 0.0 0.5 0.1
TR 0.0 200.0 - - 0.0 2300.0
RERRE s k2 4 4 4 k2
wm L P& g g g Roh ot 2

) WD ( )IE. BEEAEMEY - BBk RS OB - FRERE (AFBEFPEBORR) A-EBE>TV D ELDDBF &R

=

BT %
B3UR |[TIZ2L[NF=H[FHFSV [NETY[IAFTIFT[NREY
D% | Eg 1 INTHE =8 Ak Lk
R (FIHH 0 0 3 1 0 0 0 |MAEFBK: IO
A FE 0.0 0.0 33.3 11.1 0.0 0.0 0.0 |mamEskan: 4504k
B3 kS TEE 5.2 5.2 42.9 8.1 0.0 2.0 0.0 | GAE#H 50%%)
FELH 0.0 0.0 71.6 137.0 - 0.0 -
FEFRE P 4 EAEW FLEM 4 P 4 KAFE=FREOHALDAERERDTFEERT
S BRI 0 0 26 28 0 0 0 PxFeEib= (Fiyfl F4H{H) x100
A FE 0.0 0.0 5.8 6.2 0.0 0.0 0.0
= SEEE 1.3 11 9.5 0.6 0.0 0.0 0.0 X@ﬂﬁﬁfﬁfﬁ"}yhéhé(&&'@;&“’;g‘bi\li%ﬂ'G%E)ﬁf
FIELE 00 00 611 1033 3 — — — | RO BEBIEHMRELTREFBRITHIUH
FEEE & & eI % & &P & . N
5 e 2 P F4Ed POE (4 Py PN XUAAFEDA LVDRER>LEM, DTz,

F) B0 ( ) (E. BEAEHIEY - EERTRUNOBFELIRERERE RFELTEEDOLER) A-ELB>TVSLOOBFERT



